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The ﬁgures in the. margin indicate
Jull marks for the quesﬁons '

Answer either in- Englzsh or in Assamese

i! ':Answer the- followmg. o : 1><8—8

(a) Dlstlngulsh between pnmary data and -
secondary data '

famﬁ¢vmvm@cmwvmﬁ«w&mﬁmm

- (b). Give an example of a study where :
complete enumeration cannot be
~ undertaken.. :
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(© . Deﬁne ‘coefficient of variation”.
‘e Qo sieeat frat

(d) Fisher’s index number is a welghted
" index- number. (Wnte true or false)

| ﬁmqmwfﬁwwmmml |
' (ﬂ’brmﬁwﬁvf)

(e) What measure of central tendency is
' used to calculate the HDI?

HDI ot SR @ e@i%a @m‘m TqA
WW@? S .
() - Define ecor;omic growth of country. .
. 93 mm‘-‘tﬂ%qﬁﬁwml

(g) - Give an example of an informal ﬁnan01al
L system participant. '

| wﬁsﬁ@nww@mmw 4
- fal

_h) 'What constltutes the prunary sector of
© an economy ? - :

ﬂmaw@f%a enarﬁaswcﬁﬁmwﬁema .
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2.

(a)
: . a sta’tlstlc
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Answer diny' six* from" the following
questions : - 2x6=12

wﬁmﬂfﬁvﬁ/mwm

b
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Dlstmgulsh between a parameter and .

How is the median calculated for a
continuous series ?

. ot oM <R S R Rotst 1 =Y

Why is index numbers said to be
economic barometer ? :

5 i R SRR s T S R

Define the -term ‘sustainable
development’ as under the Brundtland

- Report. A
" ‘Brundtland Report’ 8 ﬂﬁﬁ@ EEIL AR
- QRGO ceRt |

Mention two dements of per caplta
income as a tool of measuring. .

' developrnent of a country.

GEg mw«mﬂwmﬂwﬁw'
75! SRRl frat | -

. What werée the three basic mdlcators of

human development before 2010 ?

20103«111%%«?%&% i%ﬁz?rﬁk
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. (g) What 1s -a financial system ?
Rerm T ﬁS?

- (n State the components of a ﬁnanmal'
system. . A ‘
R TR SRR w Wl
(i) ~Define GDP. -
. GDP= e

G leferentlate between’ Iabour force
- participation rates and workforce -
part101pat10n rates.

| WW\WmmWWW
T Ay fefm

3. Answer any four from the following :-

- S5Sx4=20
- (a) . State one advantage and one limitation

of the arithmetic mean as a measure
‘of central tendency.

A contractor employs three types of

workers—skilled, semi-skilled and

unskilled. To a skilled worker, he pays -

Rs. 500 per day, to a semi-skilled -
- worker Rs. 400 per day and to an-

unskilled worker Rs. 300 per day. On .

< .. :atypical day, if the contractor employs
~ . 15 skilled, 20 semi-skilled and 10
- unskilled workers, find out the average

daily wage pald by the contractor.
2+3 )

~
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(b) j' D1scuss the steps of construction of :

~ consumer ‘price index number:.
r '_mwwmmmwww
M. .

(c) State two limitations of pnce mdex
' number. - | :

- Calculate price mdex number for 2020

from the following data: - 2+3=5

| Wmmwmﬁmwﬁwms&ﬂa'
%Rl 2020-F VR IFF WA TR

- Commodmes . Pree/m
Al Rs.-per unit/5% 2fSws
- © 2010 © - 2020

A 10 15-
B 20 . 25
- C "50 60
D 40 - 50
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(d) What are the core values of economic

development ?

| ,’Amﬁaﬁs CEEDE 9 {ama ﬁw

- (e) Br1ef1y dlscuss . the ‘essential
components ‘of human development

1)) Discuss the role of Purchasing Power
Panty (PPP) in international ﬁnance

| W%WWW (PPP)-
3 ofit Y 3|

(@) Howdo banks make profits ? Discuss.
RRCE (AT S ToAeR F 2 0t <= |

(h) What are the causes fesponsible for
the unfavourable sex ratio in Ind1a ? |

Wwﬁwwﬂr@w%%9 .
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4.

Answer any t‘w'o-"ffo'-m the 'f’oll'owing

‘questions :' “oo 10%2=20

mmwmmwm

(@)

Discuss the steps in a sample survey
Elaborate on -the stratified random
sampling’ method using suitable
example. . - ' S+5=10

: aﬁﬁaﬁmwwwﬁmw
RS @321@ Wﬁw e it 39t 71|

b

What are the different measures of
dispersion ? o v " 2+8=10

‘ACalculate standard dev1at10n from the

following date

ﬁwﬁf‘wwmﬁtsﬁs?www
Wﬁmammaav

Proﬁt(RsLakhs) 0-10 10 20 20- 30 30-40 40-50 SO -60

G (74 59%).

_ No. of Companies 12 - 17 23 39 16 03

" @R R

(C)

Explain how Human Development,

: Index is measured in India.

Wwwmﬂﬁmﬂwm
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(d) Discuss the functmns of a ﬁnanmal
- system. :

ﬁ%mmww'

"' fe) Discuss the main features of the Indlan

- economy ‘that’ mdlcate the low state of

development in the country despite the

"~ impressive growth rates- espemally in
the -last decade.
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